TITAN

In Greek mythology, Titans
were giant deities of incredible
strength who ruled during the

legendary Golden Age.

The Titan Canopy System comes
in more than just giant sizes, but
possesses the same incredible
strength and can help conquer
your sun control issues.

TITAN ALUMINUM CANOPY

Architectural Fabrication's Titan Canopy offers multiple design options to
choose from so you can make the canopy unique to your project.

Please visit arch-fab.com to download revit models,
specifications, or other product information.



CONSTRUCTION

The Titan Canopy is a prefabricated Skin material is pre-finished Kynar Sheet

extruded aluminum components. Overhead supports or no overhead supports.
Made from 6063 Aluminum Alloy, Multiple lighting options: LED, fluorescent, etc.
the Titan Canopy's framework

provides strength and Flexibility. Fascia options are available in multiple

shapes, sizes, & finishes.

Finish options include mill aluminum,
powder coat, kynar, & anodized.

Flush soffit panel option is also available.

INSTALLATION

DOCUMENTS

General Contractors all over the U.S.
choose us because we provide a true

turnkey solution for architectural We provide job specific submittal drawings
shade solutions. for each project. We use these drawings to
communicate to you exactly what was purchased
Our installers are committed to completing and how it will connect to your wall.
your project on time. The Titan Canopy
System install includes the flashing, Color selection charts will be provided with our
sealant and hardware necessary submittal drawings for your convenience and

to ensure proper drainage. sample chips are available upon request.




SIDING OVER STUD WALL

-
O
<
=
D)
>
O
=
@)
|
-
@)
I

BRICK OVER STUD WALL

APPLICATION

Our Titan Canopy can be connected to multiple wall conditions, including:
tilt wall, CMU (Filled/unfilled), stick & brick, EIFS, and more.

WALL CONNECTION TYPES

CAST ALUM.
BRACKET \4
DRIP EDGES

3/4" SCH 40 PIPE ZINCt
PLATED AND POWDER
COATED

172" FLASHING &

SEALANT!
12" X 1 172" TALL STANDING
SEAM PANELS

67X 2" X 1/8" ALUM mas.'\‘
é? 10-0"affh

\/4" X 3" HEX BOLT \z“ X 2" X 1/8" ALUM

W/WASHER & NUT TUBE SUPPORT ARM
(2 PER BRACKET)

60"

CAST ALUM.
BRACKET \4
DRIP EDGH

#3/8" X 6" LAG SCREW
W/ CRUSH TUBE

13-11"aff 4

CENTER OF ¥
BLOCKING

TTDOUBLE 2" X 10"

WOOD BLOCKING BY
OTHERS

_#3/8"X 8" LAG SCREW
W/ CRUSH TUBE

10-3"aff. gy

CENTER OF Y
BLOCKING

e DOUBLE 2" X 10"

6 X6" X 14" ALUM. PLATE
WITAB'

WOOD BLOCKING BY
OTHERS

3/8" ALL THREAD
W/ WASHER AND NUT

14-6" a f. ¢

HOLOW CMU WALL\

/

1w FLASHING &

SEALANT!
12" X 11/2" TALL STANDING >
/SEAM PANELS >

[

6" X 2" X 1/8" ALUM Tuag\h

_#3/8" ALL THREAD W/
WASHER AND NUT

< ©
\f 10-0"a.ff. *

/4* X 3° Hex soLT
W/WASHER & NUT
(2 PER BRACKET)

2 X 2" X 1/8" ALUM
TUBE SUPPORT ARM

60"

CAST ALUM.
BRACKET

_#1/2" X 10" LAG SCREW
W/ CRUSH TUBE

14-5"aff

BRICK wm\ 7

FLASHING &
SEALANT

12° X 1 112" TALL STANDING

'SEAM PANELS

o EnGe:
6 X2 X 1/8" ALUM Tuae\

I > =

©

‘P 10-0"affd

| |
\./4“ 3 v T ¢
W/WASHER & NUT
(2 PER BRACKET)

2" X 2° X 1/8" ALUM
TUBE SUPPORT ARM

CENTER OF %
BLOCKING

~eDOUBLE 2 X 10" WOOD
BLOCKING BY OTHERS

_e1/2" X 10" LAG SCREW W/
CRUSH TUBE
10-9"aff_4
CENTER OFY’
BLOCKING

~~———eDOUBLE 2" X 10" WOOD

BLOCKING BY OTHERS

TILT WALL EIFS OVER STUD WALL

BRICK OVER CMU WALL

CAST ALUM.
BRACKET

DRIP EDGE

3/4" SCH 40 PIPE ZIN:
PLATED AND POWDER
COATED

FLASHING &
SEALANT'

12" X 1 172" TALL STANDING
/ SEAM PANELS

#3/8" X 6" LAG SCREW
W/ CRUSH TUBE

6" X 2" X 1/8" ALUM TUBE: A

13-11"aff
CENTER OFY
BLOCKING

[ *DOUBLE 2" X 10"

WOOD BLOCKING BY
OTHERS

_#3/8" X 6" LAG SCREW
W/ CRUSH TUBE

10-3" aff gy

<
P 00 afik

Nt x 2t x 176 am
TUBE SUPPORT ARM

1/4" X 3" HEX BOLT
W/WASHER & NUT
(2 PER BRACKET)

60"

CENTER OF Y
BLOCKING
e DOUBLE 2' X 10"
WOOD BLOCKING BY

CAST ALUM.
BRACKET

6'X6" X 1/4" ALUM. PLATE
WITAB

3/4” SCH 40 PIPE ZINCs
PLATED AND POWDER
COATED

FLASHING &
SEALANT'

12X 1 1/2" TALL STANDING
/‘ssw PANELS

OTHERS

#3/8" X 4" TITEN HD
ANCHOR

DRIP EDGE:
6" X 2" X 1/8" ALUM TUBEa._¥™\

131" aff. o
i

|#3/8" X 6" TITEN
HD ANCHOR

10-0"affk

“1/4" X 3" HEX BOLT N x 2t x 18 LM
W/WASHER & NUT TUBE SUPPORT ARM
(2 PER BRACKET)

50"

CAST ALUM

BRACKET s

103" affdy
A2

6° X6 X 1/4° ALUM. PLATE
WITAB.

34" SCH 40 PIPE ZINC
PLATED AND POWDER
COATED

i

/ BRICK WALL
e
e

FLASHING &
ALANT

12'X1 120 TALL STANDING
/ SEAM PANELS

_e1/2" X 10" TITEN HD
" ANCHOR W/ CRUSH TUBE

o

DRIP EDGH
67X 2" X 1/8" ALUM mas\

& ovarik

\w P 2 aom

- x
/WASHER & NUT TUBE SUPPORT ARM
(2 PER BRACKET)

1424 314" aff
\:

812" X 12" TITEN HD
ANCHOR W/ CRUSH TUBE

109 1/ "aH¢

60"




T

A \\’

i




	brochure-titan-digitial-page1-092817
	brochure-titan-digitial-page2-092817
	brochure-titan-digitial-page3-092817
	brochure-titan-digitial-page4-092817

